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1. BEBROE
(1) BHUINEE
TR E 600 600
B ETIRE 600 600
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EE g 400 400
SEEIEE 44,068 30,608 74,676
TEMANEHEEES 44,068 30,608 74,676
S A N FEFER S 0 0
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SZIEF(FE 1,112 326 1,438
SWEfHE 1,112 326 1,438
MEUNZS 0 0
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REINEEET 46,580 30,934 77,514
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== 45,468 45,468
% B LR 0 0
Rl F Y 22,740 22,740
BRI ER 573 573
BAELE 3,602 3,602
RERRE 927 927
WBIEERE 646 646
THFERE 339 339
(E3E3= 200 200
FIRISAE 735 735
BB 61 61
HEIK R 228 228
ERAR - EEE 1,018 1,018
R R 58 58
FHK 0 0
HwEE 1,934 1,934
218% - BhhE 4,530 4,530
Zitrl 7,877 7,877
HE 0 0
EHE 30,608 30,608
% B LN 5,007 5,007
R F Y 16,147 16,147
BEHA T E A 286 286
BHELE 3,255 3,255
SHE 318 318
REXRE 0 0
BiEERE 204 204
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